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@ Mary and Michiko are talking at school.

AH T AFTY =B84, xﬁﬁ%ni%Aﬁ
FY=2 =i fpﬂtoza‘a&ﬁbﬁéwé,’(“f
ALC €5 LiskTHie,
> 4y LS *ié‘)jif*t;iﬂﬁ. lifufi“%":l:ﬁof:k'ﬁ"ﬂ“u f':,Si‘A‘?’{‘T?f’:A,
izﬁwiﬂ | ”
P Ml kiﬁfTb
2T Y =2 xznmmL A ol e S RE HdH,
ALZ ! %ﬁrﬁoﬁﬁﬁﬁanTi a

@ At a hospital.

AT —1 ﬁi DEFRVATT, %mﬁuﬁa#ﬁﬁﬁohﬂf?u
3 %: ﬁﬁ Z9 THh. ﬁ%b*i?m PETT .
ATY—=3: da. 25T ¢T= zmaAﬁbém? ﬁ%L K BeWwWihwAa

N T
E & =8, EHLLVEIFWTLL I,
ATU—1 bhh 2Lk,
E #: 4HERTRAT FIEUUEIN,

A7) =2 o, BOAE T =X L,
E & £§$ua
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Michiko: You don't look well, Mary.

Mary: Um . . . | have a little stomachache.

Michiko: What's the matter?

Mary: I went out to have dinner with my friend yesterday. | think maybe I ate too much.
Michiko: Are vou all right?

Mary: Yes. Don’t worry about it. Oh, it hurts.

Michiko: You had better go to a hospital.

£

Mary: Doctor, 1 have a sore throat. | had a stomachache yesterday.

Doctor: 1 see. You have a fever, too. lt is just a cold,

Mary: Well, I will have a tennis tournament soon, so I have to practice, though . . .
Doctor: You had better not exercise for a couple of days.

Mary: | understand.

Doctor: Take medicine and go to bed early tonight.

Mary: Yes. Thank you so much.

Doctor: Take care.

(29
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SLOVICKA

teplota (vzduchu)
jasno
zatazeno

snih

kocovina

stesk po domové
nachlazeni, angina
kasel

zuby
bricho

doklad pojisténce
politika

zalezitost k vyrizeni
zapas, utkani

pritelkyné

pritel

véc

obleceni

darek

kytky, kvéty, kvetiny

znamky, prospéch
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-7 adjektiva
HEL Hw
[ZAYLY U
Aoy FEUD
EReltd i3y =
L & 21Xy o lXw
HHL G

* L=y AN
<HLWL LW
TFEW v
BB £

-na adjektiva
ICER SRHLR

-uslovesa vs.

AN
hhinsd Bl %
Mk L BlnE LT,
EABEOIT D BIETD
* LAIXWNT B TN A !

Slovesné a adjektivni kolokace

ZiE A s A, 9 I

A LI B 5 0 E,

feto) <

B

»ibo

D ENYEL

(e) sladky; benevolentni

(je) horky

(e) ostry, palivy, pikantni

Ge) kysely

Ge) slany

(e) $patny, zly

(e) bolestivy

(je) neprijemny, sviravy, tésny
Ge) tzky

je pocetny, je (jich/toho) moc

bajecny, skvely

-ruslovesa vs. nepravidelna slovesa

ztrati

rozejde se (s nékym)

Rozesel jsem se se svoji pritelkyni.

znervozni

bude s1 délat starosti, strachovat se

nachladi se
zajima se (o néco)
Zajimam se o japonskou kulturu.

dostane horecku

dostane zizen
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A X
* TEERN RN neni zdrav
229 b5
A DN EN nevyhovuje to, nehodi se

Adverbialni a jiné vyrazy

* BrEWLIC BREFIZ Brzy se uzdrav. Opatruj se.
Davej na sebe pozor.

%jtiga: LTLZE, Dé4vejte na sebe pozor.
TEHET jak jen to jde; v mezich moZnosti;
pokud mozno

* f=A3A E2 mozné
* [ZSAITHE ——H par dni; dva, t¥i dny
* 159 < uz brzy

L&<ZIZ BREIC po jidle

TLHT #& T poprvé

e
THETA, FIOTRATT N, Promilite, jsem tu poprvé.

~& ~JE ... stupni
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There are two distinct wayvs to make a statement in Japanese. One way is to simply report
the facts as they are observed. This is the mode of speech that we have learned so [ar. In
this lesson, we will learn a new way: the mode of explaining things.

A report is an isolated description of a fact. When you are late for an appointment, you
can already report in Japanese what has happened, /YA2%R £ £ A T L 7. This sentence,
however, does not have the right apologetic tone, because it is not offered as an explana-
tion for anvthing. If vou want to mention the busses failing to run on time as an excuse
for being late, you will need to use the explanation mode of speech, and say:

AR U2 RATT, (As it happens,) the bus didn't come.

An explanation has two components, one that is explicitly deseribed in the sentence (the
bus not coming), and another, which is implied, or explained, by it (vou being late for the
appointment). The sentence-final expression A T+ serves as the link between what the
sentence says and what it accounts for. Compare:

HLETAMYSEN 1. I have an exam tomorrow. (a simple observation)
HLETAMYBHLATT., I have an exam tomorrow. (So I can’t go out tonight.)

P LIZFTF X =W TT, I want to go to the bathroom. (declaration of one’s wish)
P UVIZIFZ2EWATT, I want to go to the bathroom. (So tell me where it is.)

A TT goes after the short form of a predicate. The predicate can be either in the
affirmative or in the negative, either in the present tense or in the past tense. A T itself
is invariant and does not usually appear in the negative or the past tense fa:)rms.1 In
writing, it is more common to find @ T+ instead of A T

REH L { WA T3, (in response to the question, “Why do yvou look so upset?”)
s AT
(As a matter of fact) My grade is not good.

'In casual exchanges, A T appears in its short form. A 7. In casual questions. A T4 #* is replaced by
2. We will examine these further in Lesson 15.
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ﬁ%ﬁf) fﬁ’*bf) 7= A T3 . (explaining to a person who has caught you smiling)
Tke exam is over. (That'’s why ['m smiling.)

When it follows a noun or a Z-adjective, % comes in between.

report sentences explanation sentences
Inﬂ%wma ﬁﬂ?ﬁ ﬁﬂnhfi
noun: f‘{%t’?‘ #%Wu?.‘?

You can use A T in questions to invite explanations and further clarifications from the
person you are talking to. It is very often used together with question words, such as ¥
9 L€ (why) and ¥ 3 L7 (what has happened).

1B B L“(ﬁ:&?‘]ﬂf*&“( T A
Why did yoz: break up with your boyfriend? (You've got to tell me.)

Al ?E %A-ﬁ‘&bﬂ@l )\b WA TT,

Ok, him. He never takes a bath. (That’s a good enough reason, isn't it?)
Q:¥3 LEATTD

What happened? (You look shattered.)
A RBYRAEATT,

ns

My cat died. (That showld explain how I look loday.)
You can also use A T (o provide an additional comment on what has just been said.

A:tfthu&ﬁ%??n
Thal’s a gtrmt tarrbook that you are using.

B, 7?1.9);’{5?30)%5'—;?5 %k\f*ﬁ.«'@‘?’a

#isl LA o

You bel. T ke professars (zr my university wrole it (for yvour information).

2A ¥ LA T T4 question is best answered by a A T sentence with the subject marked with the
particle % rather than (. as in this example. See Lesson 8 for a related discussion.

3
)
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Verb stems may be followed by the helping verb ¥ ¥ 3, which means “too much,” or “to
excess.” ¥ X 2 conjugates as a regular ru-verb.

BT ETRWT ZEA You must not eat too much.
F{REFXFI LA I got up too early.
1% B )

4 X 3 can also follow v and %-adjective bases (the parts which do not change in
conjugations); you drop the v» and 4 at the end of the adjectives and then add ¥ % 3.

(& W) o 6‘){5-{3: F%'T i s This book is too expensive.

(B L) HOARIRWTEZT. That person is loo nice.

&l —=5runTy

139 A9 T “it is better (for vou) to do . . ." is a sentence-final expression that vou can
use to give advice. When vou suggest an activity with (29 #*\\WT7F, you are giving a
very specific piece of advice; namely, that it is advisable to do it, and il one does not
follow the advice, there is a danger or a problem.

139 #5O 1 is peculiar in that it follows different tense forms, depending on whether
the advice given is in the affirmative or the negative. When the advice is in the affirma-
tive, 13 3 A7\ v\ TF generally follows the past tense short form of a verb. When the advice
is in the negative, however, the verb is in the present tense short form.

b2 2HFRERREEI AV TT X, You'd better eat more vegetables.
‘ELKRT LWIETIAVWWNTT L, It is better nol to skip classes.

@ ot
You can use #T to give the reason for the situation described in the balance of the

sentence. Semantically., @ T is just like #*&. Stylistically, @ T sounds slightly more
formal than #* 5.

‘ (reason) MT (situation)o (situation), because (reason).
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WD} EZF%T’%"?'@T‘ B AR LT FLE,

My Japm:ese has improved, because I always speak Japanese.

1%53:5 ESEAHSE=DT, 205 0)& ﬁi ®ATLE.
I did not sleep last night, because I had a fai‘ of homework.

The reason part of a sentence ends in a short form predicate. When @ T follows a

Zr-adjective or a noun, % comes in between, as it did with the explanatory predicate
AT,

EDARWERLBZLDT, 26WTT,

I do not like that person, because he is mean.

AE tiE HE BLZDT, ﬁﬁtiﬁ&‘("ﬂ °

Bmzks rzre closed became taday is a Sunday.

~B< e LFERA

3
We use %2 BT Z A Lo say that il is necessary to do something, or “must.”

K:ﬁ‘}‘z FEBEBE, 4 "‘A,%v.?ﬁl.?l ({BeWwWiTIEA,

I kave to study a lot, becaise ﬁ:ere wdl be an exam next week.

¢ B¢ means “if you do not do . . ." and v Z ¥ A roughly means “yvou cannot go”:
L et 22 A therefore means “you cannot go not doing . . .” with the double
negatives giving rise to the affirmative sense of the mandate. To forma & { e Wi &
A sentence, we substitute %\ in the negative short form of a verb with % { % «.

verb short negative “must”

%f\’.é %N@ %*‘\'JJ <EBPLWFFEEA
E5 SHHEL ShulsrLFEtA
T Ll LELErL\FTEEA
<2 gL CHLBEPLTEEA

Wit £ 4 A is grammatically the negative long form of a verb in the present tense. You
can change 2 { LeWiTE®A to & { bewiT 4 A TL 7% (past tense) to say you had to,
and to & { Lo wiTZwy (the short form, present tense) in casual speech and before
elements like A T7.

*In writing and in very formal speech, % ¢ TI2\T € A is more common than & { Le w2 A.

=
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T =13, .-\B%l ﬂ* RAbewiTFRATL 7=, (long form, past)

I had to gef up rzt six this morning.

-@E BRYE L benwiFawA T3, (short form, present)

RALpA

( Tke truth is,) I must practice everv day.

~TL&S

We use the sentence-final expression TL x 3 (probably) when we are making a guess or
a prediction. TL r 9 follows verbs and \v-adjectives in short forms, in the affirmative
4

and in the negative.

(verb)
bL?‘:!iﬁﬁ*&fj TLED

| M_“f’ L2 3.
(vr-adjective)
LBERAERNTL LS.

£ SR SAA G B o

It will probably rain tomorrow.

It will probably not rain temorrouw.

It is probably cold in Hokkaido.
It is probably not cold in Hokkaido.

T L L 9 may also follow %-adjective bases and nouns. Note that TL x 9 goes directly
after these elements; we do not use X~4LTLx 9, X~DTL x99, 0or X~ETLLI.

(7Ze-adjective)
ATRERSMEATLL S,
HarLelwtlx i

(noun)

BOARE=R LIV TATLE 9,

Professor Yamashita probably likes fish.

Professor Yamashita probably doesn’t
like fish.

That person is probably an Australian.

A—Z b3 '}"ﬁ U ZWTL & 9. That person is probably not an Australian.

“TL & 9 may also follow predicates in the past tense. We will, however, concentrate on the present tense

examples in this lesson.
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TL x 9 sentences can be turned into questions (~TL & 9 #*), which can be used to
invite another person’s opinion or guess.

E?F%Eiﬁﬁl ¥, E25MDI354° ﬁLU‘C“LJ: 7 P

Wiz:cfz wom’d vou say is more diffi cu!r Japanese or Korean?

The short form of TL x 9 is 7% 9. You can use it to cautiously phrase a prediction or
an analysis.

=iT L *ﬂtiﬁ%v&*?)é?‘-%ﬂ ?: BWE T,
I think Takeskz wom’d be nzterested in il

In casual exchanges, vou can use TL & 9 (with the question intonation, and most often
pronounced as somewhat shorter TL &) when vou want to check if your partner agrees
that you have the correct understanding about what vou have just said.

‘Plﬁi:bf#’nb 2TLET T3 ’a?EA,‘f’
Jakn, you un&’erstand Chinese, right? Can 102( read this for me?
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A. You are in the following situations. Explain them using ~ATT. [

Example: iﬁﬁ*ﬁk‘f*T
= Q:¥EGLEATTY,
A BEEFROATT,

6)) ﬁb~5f§%ﬁ$bf @ 7Lz
b ILE LaaE L

1 *DI 13 (G) 7APHELL 6) DLHHNTT
JE¥.§;?T°L?: b EIEATLE
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(1) £ 35 Hx T (1) & BN g Li

. Respond to the comments using ~A T [

Example:

(1

I received them Italian ones My mother made it.
from my friend.

(4)
WWH XA TT .

It was cheap. kind
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C. Pair Work—Your partner has said something nice about what you have.
Respond using ~ATT.

Example: B : < 3"29??_‘{{*"3"#%
ATEEBILE boRATT,

D. Pair Work—Make up dialogues asking for reasons.

Example: I went to Tokyo last week.
- A:RBRIXICTEXEIL L

HALlwizdELa

B : 23 LTRKIT2 A TTH,
A EHT XY AP LREATT,

I am very tired.

. I have no money.

[t is not convenient today. (#F&2°B\)

. I want to marry my boyfriend/girlfriend.
. I am going to Japan to study.

. I don’t want to watch that movie.

=3 o N e 9 B e

A

DERTEELL

A. Describe the following pictures using ~9%%. Use “verb + 3&3" for (1)
through (4) and “adjective + ¥%3" for (5) through (10). (2]

Example:

~ N TIaLE. - IOWERLEITEXT.
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B. Look at the verbs below. Think about the results of over doing these things and
make sentences as in the example.

Example: ’iﬁ:"{% = BRXTTE,DL, B’l‘wb*-ﬁ“’ﬁhk‘f"ﬁ

L. 8k 2. BT 3. AvEa—F— &7
L RERE . FERETE 6 HVWHERNS
7. REKS 8. $HT 3
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A. Using the cues below, give advice to a friend who has a headache. Decide if

you should use the affirmative or the negative. [
Example: ®Z&RET — B! 3%7&% WATT
| A REHAKIE) DN TT L,

1. $<E§-‘§ Z. jﬁ;m:ﬁ{ 3. ;ﬁr@c:ﬁ(
4 @f&%t s;ﬁ%uﬁé 6.%%?5

. Pair Work—Give advice to your partner in the following situations, using ~I&>

ALY,

Example: E;f%g-ﬁ‘.]:-?s: ) =y
= BlIBRESFEFIZRNAEVATT,

=Xk =

A:?%ﬁ@ﬁt%éﬁotﬁ7ﬁhth£
T3 %tﬁfﬁ%éﬁ* BAvMEI AT T X,
1. f=L w72 2. LHEW 3. REBLYTA» L
4. B%ﬁf&u 5. ﬁ‘x‘;}ivﬁ‘%\r\ 6. .,.lzag_t#»\f~
7.$ﬁﬁw 8. ﬁﬁ?% Rl e g.uvtﬁﬁeﬁm?a

. Pair Work—You are a health counselor. Someone who hasn’t been feeling well

is at your office. Ask the following questions. Complete this form first, then give
your advice usmg ~{§:J?J‘L\L\

a. i(:ﬁﬁl.i’i‘b‘ Ew VN2
B & <°Etw—wﬁ‘&*\i'h5 EOR V2
c.l<ﬁ%é&ﬂiT# vy wawgz
d.ﬂ ukéﬁ«ifﬁ (=g VWA Z
e.i(bﬁéﬁéiT# v wng
f. IR ’&%ﬂ\i'ﬁ‘f:‘ [ VWL
g. ﬂ%l’s‘i( b“ﬁid‘;&* B'!?Fu‘]
h.féfﬁﬂél(&«i?# B

J:(&‘%::"M* v VWA Z

e e = —— e — = e

e
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A. Connect the two sentences using ~MDT.

Example: W\ \Kﬁf"f/ﬁiﬁ LE¥

W e N S W e W e

- uuiﬁ4®? ﬁ#LfTa

.%wf¢/ﬁw$?

5@&@@5% LB B IRA/AEAH) TEA
A:ﬁi;ﬂt Lﬁ‘o?‘-“f"?’/-ﬁﬂ'ﬂ\i'?‘

. ﬁﬁ"( Lf_/ﬁ%’&ﬁi&i L2
T tﬁtﬂ("ﬁ‘/kfnb*& &+

oLz LA®=

: ﬁ:ﬁsz BekA'H ) i&&/%ﬁﬂ&%ﬁ:&i%ﬁ

LS I

5} L?'LTZ b B Y iT/@?ﬁLi?
DEYPHLIZ LI/ TVa—APREEWTT
if‘?'ﬁ"gi Lf:/ﬁﬁfﬁh"("'g"

B. Make sentences using the cues below as reasons, according to the example.

Example: ¥ 20231l - »PEEVPWEDT, iﬁﬁﬁﬁhﬁi L.

1
3.

=l

LwXyd

; Hr@ir"c‘b N &2A 2. BT TWET
R—=L g T TY 4. E?ﬁ*ﬁ;? -
ﬁ-%’éﬁ)ﬁ‘%b‘bb”} THA 6. ﬁﬂi Lk

Fill in the blanks with appropriate words.

DT, FEIATEELTT,
DT, ARHHY E T,

e, »PEEVEZE LA

0)@«. ?:-’ﬂi Lf:a
DT, gﬁs:t&&f: (b IEiA.

nT. BRLELE,

3 e gﬁLfb‘i i 4
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A. Look at Tom's schedule and make sentences, according to the example.

Example: 7200.—\.3]./&1;35 = ]‘A*ktj-{:ﬁtﬁ% S BewlTEgA.

7:00 am. | Ex. i;i 23
8:00am [ (1) IHLEHS
© 9:00 A (2) %%ir&i_é_ -
L:00ea | (3) d;rrfggc &9
2000w | () RBEHKZD
3:00exm | () LLIZAT2 T, 7— 7"%&3(
5:00pn | (8) 9 '5(-'}‘%5
6:00 e | (D ?J?Xf*.‘};? 3 ’)“&E%.C'tié,&@*‘ié
8:00r. | (8) BHEET B N "
9:00 P | (9) ;;,ag l:f‘\%
10200 pae. | (10) % ’Eﬁﬁ(iﬁ

11:00 M | (1D 9 i&liﬁﬁi-’é T %

B. Pair Work—Invite the partner to do the following things together. Turn down the
invitation and give an explanation using ~&< 5% L\[FA&L.

Example: play tennis
- A é’)L)"‘ﬂﬁH "*%ﬁl ZRARELZIEAD,
B: fslﬂﬁﬁﬁ"‘ﬁ %\\A,'C‘i'a %L?‘_l.ﬁi'ﬁi Hi’l(i‘:«bhlf
TWATT,

1. do homework 2. eat lunch 3. drink coffee
4. study in the library 3. go to karaoke
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Answer the following questions.

(=11

1.a$%mﬁ%<ﬁ&L {BewltiRAidr,

2. B$<?FEAIJWEL (BewTIRAD,

3.

4.£tﬁﬁﬁvt%i?oﬂEL S BewT R RAD,

ﬁ':s'-.J:( ')?‘_\‘A,'C“f ﬂ"e’:L K BewiaEAD,

ivl_fl.i?ﬂ#)'{?)‘?'—f"?'i‘ H‘EL"“{%%\\H&-&&#
%ﬁﬂﬁ 'f'I*‘&L (i‘:ﬁh\t'}i-’é/u't’l.f'_

;5bkﬂ%ﬂ?b$5

Here is tomorrow’s weather forecast (XXF38). Play the role of a meteorologist
and tell the weather forecasts for each city.

Examples: Tokvo/snow

— ﬁ#u&LfE?vaa
temperature in Tok\ o/around 2°C

* ﬁﬁ@%fgﬂi, ——i( "D"\TLI;:'O

city weather ' temperature
Tokyo Ex. snow L Ex. around 2°C
Sydney (l)_burmv (2) hot _(’3_) around 30°C 1
Hong Kong | (4) rain B (5)_&01 a (6) am;nd 18""5
I;i‘.ome -- (7) cloudy _(E;i warm (9) around 20°C ]

B. Pair Work—Play the role of a meteorologist. Predict the weather for your favorite
city. The other person fills in the blanks. Switch roles and do the same thing.

city weather temperature
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A. Using Dialogue [ as a model, make skits in the following situations.

—Your friend looks sad.
—Your friend looks happy.

B. Pair Work—A and B are deciding when they can play tennis together. Play the
role of A and B. Discuss your schedules and find the day on which both of you
are available. Refer to p. 245 for B's schedule.

Example: A : a&:ﬁmﬁsﬁar——w —RELFIEAD,
B : *ﬂ@ﬂﬂﬁﬁiiﬁio&ﬁf*b‘ AWVWATT, *i‘é %ﬁti’.&‘(%%
Ry wAfTBE%aufaf?#

A’s schedule

Sunday go shopping
Monday
Tuesday read books

Wednesday
Thursday

Friday meet friends

Saturday

C. Role Play—Visiting a Doctor's Office
Using Dialogue I as a model, act the role of a doctor or a patient.
Doctor—Fill out the medical report on p. 245 and give advice to the patient.
Patient—Describe the symptoms you have and answer the doctor's questions.



mmm+;5

Sex: 1 Male "1 Female
Age:

Symptoms: _ Sore throat
_ Headache
| Stomachache
_ Any other pain
"1 Cough
L] Fever
C Allergy (T V¥ -—)
L Others

Pair Work@B. =
Example: A : *ﬁﬂﬂ@ﬂl‘-‘ﬁl =RAe LTELD,

Hvaled F=2ka ¥ kv L

B kﬁ@ﬂﬁadk:ot%Awﬁw&f?G%% i&<%¢

i Lisa 2ES W -

uﬁ;wkf?aﬁﬁgufvﬁT#o

B's schedule

Sunday

Monday teach English

Tuesday

Wednesday clean rooms, do laundry, etc.
Thursday
Friday

Saturday practice karate
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ITA TS T &S5 E

BELHBER Zdravi a nemoci

Stavy, jez se poji se sponou TY"

(fUY I prijem.
%}%ﬂ‘(ﬁ—o Mam prijem.
AT {55 zacpa
Y acesiil menstruace
MSAL &S AERIE senna ryma; pylova alergie

Stavy, jez jsou nominativnim komplementem slovesa & %

L LIX g kaz, zkazeny zub
MESHYET,  Mdm kaz (v zubu)
7 LIL¥— alergie
EZVIIZT LA —=DH0 7, Mam alergii na prach.
o LA B vyrazka
13D B horecka

Stavy, jeZ jsou nominativnim komplementem slovesa H %

CLedHM HEFET, Kycham.

#&E

AN HES, Kaslu. Mam kasel.
e el .

g A HFET, Tece mi z nosu.

Dalsi kolokace

#® i h . hep

E M EFELTY, Svédi mé zada.

Kf)_T:i . L= 2’ 25 .

BE AN E/ULNTT, JBEEREN HYFET, Boli mé hlava.
E) *:3; 5L . hb

Ko HRF N OBULTY, Je mi spatné.
HENDN LET, Toci se mi hlava. Mam zdvraté.

(=S
mEXRL Zvracel jsem.
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Nemocniéni oddéleni

ARV
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VASH

NAD

C UM

L
SASALCAD

Dalsi uzitecné vyrazy
ZO5EWLAoLD
LY k7Y
5p5Le
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E%E FUELE,
*bfféf %E L&EElzfto
Al & LELI=.

Zranil jsem se.

Utrpél jsem frakturu.

Zlomil jsem siI kost.

PR
SR}
e R
R
H A
B
PR A

AEwE

Es)
LSty

Utrpel jsem popaleniny.

Spalil jsem se na slunci.

Podstoupil jsem operaci.

interna

chirurgie

kozni (dermatologie)
oéni (oftalmologie)
usni a nosni

zubni (stomatologie)

porodnicko-gynekologické oddéleni

antibiotika
rentgen
injekce

teplomér



